
Deflector  Kawasaki  KVF  650 
 

PLEASE STORE WITH  A.T.V.  MANUAL 
R e a d  a l l  i n s t r u c t i o n s  p r i o r  t o  a s s e m b l y  

 

V i p - A i r  i n c    All rights reserved Vip-Air inc 
 

Thank you for choosing Vip-Air; Our deflector are manufactured with high quality components. The polycarbonate windshield is flexible 
in temperatures up to –35° C (-30° F ), the light and highly resistant raw materials are colored with a brilliant glossy finish resistant to 
ultraviolet rays; the brackets manufactured for easy and fast installation and for maximum grip on the A.T.V.  
 

   WARNING : Never place stickers directly onto visor as they could affect visibility and cause accidents.  
  WARNING : When transporting the A.T.V. in an open trailer or pick-up, place the front of the A.T.V. towards the back, 

placing the vehicle in the opposite direction could cause the deflector to rip off and cause accidents  
  WARNING :  The use of a deflector does not minimize the importance of always wearing an approved helmet.  

 

Assembly 
 

NOTE: Place the deflector on a clean surface so as not to cause scratch marks.  
1. Remove the front cover (Figure 3, # 1) on A.T.V. handlebars. 
2. Install u-clamps (Figure 1, # 1) on A.T.V. handlebars (Figure 1, # 2) as illustrated. 
3. Install deflector (Figure 2, # 1) to the u-clamps (Figure 2, # 2). 
4. Fix temporary the front cover (Figure 3, # 1) to handlebars, take measures to finally make a groove (Figure 3, # 2) of the same as the 

u-clamps  (Figure 1, # 1). 
 

            
            2         1                                                               1                  2                                                                       2             1 
                           Figure 1                                                        Figure 2                                                           Figure 3 
 

Warranty 
 

Vip-Air inc. reserves the right to repair or replace free of change, parts judged to be defective due to manufacture or raw material 
defect with a part of his choice. Vip-Air inc. also reserves the right to judge if the cause of damage is due to abusive use on behalf of the 
consumer either through improper maintenance or handling. 
 
Parts 

 
Also available :  Clear windshield  13"          # 51-995                              Tinted windshield  13"   # 51-996 
                               Tinted windshield  15"   # 51-997                               Mirrors  ( pair )                                 # 51-999-660 
 

NOTE: It is recommended to install the mirrors from Vip-Air inc. 
 

# Number Description                  Deflector  Kawasaki  KWF  650 Qty. 
# according to color Deflector base 1 

51-999 Clear windshield (15" STD) 6 holes 1 
51-999-02 Push clips 6 
51-999-38 Brackets 2 
51-999-15 Rubber washer 4 
51-999-12 Eye bolt screw  2 
51-999-05 Small socket screw 14 - 20 NC x 1/4"  4 
51-999-13 U-clamps 7/8’’ 2 
51-999-04 Conic washer 4 
51-999-39 Eye bolt 2 
51-999-22 Flange nut 3/8" NC 2 
51-999-14 Tooth lock washer 3/8" int. 4 
51-999-19 Cylinder  5/8’’ X 7/8’’ LG 4 

Vip-Air  inc. 10, Rte Pépin, St-Éphrem , Beauce, Québec, Canada, G0M 1RO                                                                                   WWW.VIP-AIR.COM 
 

http://www.vip-air.com/


Déflecteur  Kawasaki  KVF  650 
 

L i r e  t o u t e s  l e s  i n s t r u c t i o n s  a v a n t  l ' i n s t a l l a t i o n  
 

V i p - A i r  i n c    Tous droits réservés Vip-Air inc 
 

Merci d'avoir choisi le déflecteur Vip-Air; fabriqué avec des composantes de haute qualité, dont la visière en poly-carbonate flexible 
jusqu'à des températures de –35° C (-30° F ), une base en matériaux composites robuste et légère, une coloration glacée brillante qui 
résiste aux rayon ultra-violets; les fixations sont  fabriquées afin d'obtenir une installation rapide et une prise maximale du déflecteur sur 
votre VTT Quad. 
 

MISE EN GARDE: Ne jamais mettre des auto-collants dans la visière, car ils pourraient vous obstruer la vue et causer des 
accidents. 

MISE EN GARDE: Lorsque vous déplacez le VTT à bord d'une remorque ouverte ou pick-up, placez l'avant du VTT vers le sens 
du déplacement, car dans le sens contraire le déflecteur peut s'arracher et causer des accidents. 

MISE EN GARDE: Même équipé de déflecteur, vous devez en tout temps porter un casque approuvé. 
 

Montage 
 

NOTE: Placez le déflecteur sur une surface propre pour ne pas l'égratigner.  
5. Retirez le couvercle avant (Figure 3, # 1) des guidons du VTT. 
6. Installez les collets de fixation (Figure 1, # 1) sur les guidons du VTT (Figure 1, # 2) tel qu'illustré. 
7. Installez le déflecteur (Figure 2, # 1) aux collets de fixation (Figure 2, # 2). 
8. Placez temporairement le couvert (Figure 3, # 1) avant aux guidons du VTT, prenez les mesures afin de faire une rainure (Figure 3, # 

2) de la grosseur des collets de fixation (Figure 1, # 1). 
 

            
            2         1                                                               1                  2                                                                       2             1 
                           Figure 1                                                         Figure 2                                                            Figure 3 
 

Garantie 
 

Vip-Air inc se réserve le droit de réparer ou de remplacer sans frais, à leur choix, toute pièce jugée défectueuse en raison d'un vice de 
matériaux ou de fabrication. Elle se réserve aussi le droit de déterminer si une mauvaise utilisation en a été la cause, soit par manque 
d'entretien, mauvaise utilisation ou une utilisation abusive de la part du client. 
 
Pièces : 

 
Aussi disponible : Visière claire 13"    # 51-995                               Visière teintée 13" # 51-996 
                               Visière teintée 15" # 51-997                                Miroir (la paire)        # 51-999-660 
 

NOTE: Il est recommandé d'installer les miroir vendu par vip-air.   Email : admin@vip-air.com 
 

# Numéro Description                  Déflecteur  Kawasaki  KWF  650 Qté. 
# selon couleur Base de déflecteur 1 

51-999 Visière claire (15" STD) 6 Trous 1 
51-999-02 Bouton fixation (sapin) 6 
51-999-38 Tiges à angle Gauche et Droite 2 
51-999-17 Rondelle de caoutchouc 4 
51-999-25 Vis à tête cylindrique 5/16" NC x 5/8" LG 2 
51-999-16 Vis à six pans creux 1/4 - 20 NC x 1/4"  4 
51-999-13 Collet 1" x 7/8" 2 
51-999-12 Rondelle conique 4 
51-999-11 Boulon à oeil 2 
51-999-22 Écrou épaulement 3/8" NC 2 
51-999-14 Rondelle blocage dentée 3/8" int. 4 
51-999-19 Tige d'appuie 5/8’’ dia X 7/8’’ LG 4 

Vip-Air  inc. 10, Rte Pépin, St-Éphrem , Beauce, Québec, Canada, G0M 1R0         Fax 418-484-5810  Web : WWW.VIP-AIR.COM 


